y' =2y —y=0

492 _o0dz 4 95, =

y'— 4y +13y =0

y" — 10y +25y =0, y(0) = 0,4/(0) = 1
y' =2y +10y=0,y(%) =0,y (%) =2
y'+3y =0,y(0)=1,9'(0) =2

Yy +4y =0,y(0)=1,y(0) =2

v’ =12y =0,y(5) = &,y(0) =4
9Ly 16y = 0,5(0) = —9,y/(0) = 123
y' — Ty + 6y =sinx

y" + 2y + 5y = —iL cos 2z

2" +y —y=2e

Y’ +a’y = e*

y' -6y +9y =222 —z+3

y' 4y =5y =1
y' =4y + 4y = f(z)

flx)=e
f(x) = 3e**
f(z) =2(sin 2z + z)

f(z) = 8(x? + €2* + sin 27)

0162‘70 + Coe™®

(1 cos bx + Cq sin b

Cy + Cqe”

Cre?® + Coxe®®

Cie* + Cgeﬁ‘r

Che® + 026_227

Cicosx + Cosinx

Cle(l—i_ﬁ)m + 028(1_\/5)‘%

z(t) = Credt + Cotedt

e?*(C4 cos 3z + Cq sin 31)

1,653:

—%e‘ﬁer cos 3x

_ 2,3
ze

wloo

— lo—dx
€

[S][9)

4e—2V3

4 75 @i 4
—9cos 3¢+ gsingzx

Y = %cosx—i— %sinx—i—cleg” + Cqeb®

Y = —1cos2z 4 2sin2x + e *(Cy cos 2z + Cy sin 2z)

Y =% + Cre~? + Cqes®

Y = 1+1a2eﬂc + C; cosax + Cysinaz

Y = £ (62? + 5z + 11) + C1€3* 4 Cowe”

Y =14 Cie® + Coe™™®

Y = Le=® 4 C1e*® 4 Chze?®

©l~

Y = (%372 + Cox + 01)622

Y = jcos2r + 5(z +1) + C1e? + Coue™

Y =222 + 4z + 3 + 42%e%® 4 cos 2z + C1€%® 4+ Coxe®®




y' +y=f(z)
flx)=22% -2 +2

Y:yp—l—yv:2x3—13x+2+01005x+czsinx

f(x) = —8cos 3z
f(x) =cosz

f(z) =sinz —2e™®

Y —y = 2%

Y -2ty =<
—2z __

y// + 2y/ +y= ee*“"+11

yIV _ Qy/// + y// -0

Y =cos3x + Cycosx + Cosinx

Y = %xsinz+6’1 cosz + Cysinx

Y =—1zcosz —e® + Cicosz+ Cysinz

Inje* —1|(e® —e ™) —xze® — 14+ Cre® + Cre™*

—ze® 4+ ze” In x| + Cre” + Coze”™

352 e —2x+1+Cie %+ Coxe™™

Ae®* + Bxe® + Cx + D

YTV +aty =0 2

64‘1 (Cl cos (%ax) + (3 sin (ﬁaw)) + e‘ga <C3 cos (%ax) + Cy sin (@ax))

y/// _ 2y// + y/ =0

no__ 1
y z

y" = cos2x

Cxe® + De* + F

%IQIHI+CI2+DI+E

7sin82m +Cl’2 +Dz+ E




